
euiz #Z: Eleetric Fields
Problem I (2 points)
An electron traveling north enters a region where the electric field is uniform and points west. Theelectron:
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a) speeds up
b) slows down

@veers east
d) veers west
'e) continues with the same speed in the same direction

Problem 2 (3 points)

A t./'Name: fi f i :5 uuef- fueV

Lab (circle one): 8:00 am 1 I : I 5 am Z:45 pm
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In Fig' a, a circulat plastic rod with dfory charge +Q produces an electric field of magnitude E at thecenter of curvature p1ttre.9d-gtn), In Figs. b, c, aid d]ior"circular rods, each with identical uniformcharges +Q,are added until the circle iJcomplete. a hrm affan_gement (which would be labeled e) islike that ind exceptthe rod in the fourth.quadrant has rrr*t. =0. Runt in nu, arrangements accordingto the magnifude of the electric field at thi center ot.*utfue, greatest first.
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Problem 3 (5 points)
In the figute show below, instead of an electric dipole, assume that both ,lr*g"J are positive.
what is the electric field at point P, a distance z abovethe midpoint of the charges? use the binomialexpansion to simplify your answer in the limit that ,Jj.'
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